D TNVIN NIV NIRRT
AYNNN VTN?

D1INID 2X0T



NV XN ”

(N72p 21 X271 N'W1 Ty NY7R) N nva ™
DN'RNN D TNYN 2w D1apa™
IWNNN W2 NN nmanrn®

0120 N2'VNA NPT DAY N1NY



'Y NPaR PV DMavn NXp”

2017 2016 2105 2014 Ny
18 39 29 22 D*TNYIN
122NN

13 27 22 19 (" NN N2°NNY)
()72% 69% 76% 86% D'7INN2
1NY)

? 9 10 9 ("> NN Mo TY)

? 33% 45% 48% DTINNA



27NNN YA M ”

"NPLRPTAR" Mo .1
"1V IDIN,*IN DNMY 18D N Nayn®
DWIINN 50% NPNON Mwa”®

D™ TN210 DMNINA DY MTTNNN2 Wi .2



NNRD 2NN YY) PR
sibehal

nnan? nawn e
NN nan®



21N2N2 A1Ta? NPIN X Nn*




202VN 1NaN 1’ DR

1N2NY 1NONN2 TIX PR

MMALRPN NYAIRN NNR 201 3-4 ,NnXpe MRy 15%
0-5 M1 122N n9Rw 22*

myw 1.5 2w nr*

N2V 222 TN TN M2p/Mvip M?KXY 1102 T *
D T'N?NN 1abN? DXNNA (2A7) N3P0 121 1Nana
N1121 12V 1YV

N217 "IN NN 55 2yn 227wn x



-Ab5RY N1

NN NawWwn

,D]']'?EDD NK AX'XINI D"M50N 1Y ]"I'?ZLPDU MUL Dwa NNX ,NINOODIP 'MW NIIIM)
.ONIDO0 NX AX'XINI D"M50nN 1Y ]'I'?:LFDU ADD nwa nwnl

Y MUL > ADD >

102N NX 2WN71 TN NaN? 1 (10 7'21aN7 NniTa) N78 NIXROSIP 190N WNNwn
tlah!

X%+ Y2 4+2XY



5N AnaT

"N TN AMMMNIAPR NAYYN

SN 7TAN" ROAW NN XN ' D'YANN
P1, P2, P3 Dwanivm nwI7¥ DIY' D'YIN]
wI7w Niniin P1 uinn 7v 'N7nNnn 2¥na
N7W 7TIan '97 3 TV 1-n nNooinn NI'fpo' T

; NYI7Y NN X'2N7 N'N PRYNN 7¢ nnonn
3 1702 P3 uimn 7y ninam 1'N'Y NI‘gor T
P1 p2 P3 1N?Y Nipnn

ZNnunn 'pin
TA7ANNX N'PO'TYAVN7 NN 27w 7D e
(INN"MYN Y¥NKN X7) NN"yYn WX NIRYNMIY N'PO'T 71 1'AUn7 N1 e
NI NI0P N'PO'T 7V NIIN NI N7ITA N'RFOTY IION ,PNYNN D NIRRT e



N2V N2 PY Tt

T
na'wn|  /niman na'wn
VTN AR NN nIrpIn| NN

ax'ma| 910 ¥ 15| 14| 13| 12| 11| 10/ 9| 8 7| 6 5 4 3 2 1/<-- n'INY

100% #/15| 7%| 6%| 10%| 7%| 7%| 4%| 4% 7%|10%| 9% 10%| 1%| 7%| 4%| 7% <--2wN739Un
11| 4| 8 4| 5 13 12 5 7/ 6 9/ 15 11| 13, 10/a'xwn 7y nyn

2apnn 75.4| 11 5 5 5 5 2 5 2 0 5 0 4 5 5 5 5 1T1Tnm
7apnn 73.4| 12 5 5 4 0 5 5 5 4 0 5 4 5 2 5 5 2 Tnm
7apnn 92.6| 14 5 0 5 5 5 5 5 4 5 5 5 5 5 5 5 3 Tnn
7apnn 62.4| 10 5 0 4 2 5 5 5 5 0 1 3 5 5 5 2 4 1N
7apnn 97.4| 15 5 4 5 5 5 5 5 4 5 5 5 5 5 5 5 510
ninT? y'mn 346| 6 o0 o o O 2 5 5 00 O 1 5 5 5 5 0 6 TN'n
ninT? y'mn 40.6| 6 00 2 4 o0 O 5 5 1 0 2 2 5 5 3 2 7 T
7apnn 79.6| 12 5 2 5 0] 0 5 5 3 5 5 5 5 5 5 5 8 Tnn
nINT? y'mn 22.8| 2 5 00 2 o 1 o0 1 o0 O 1 2/ 5 o0 o0 2 9 1NN
ninT? y'mn 35.2| 4 1 1 i o0 2| 5 o0 2 i1 2| 1 5 5 5 1 10 TN
qon |IrT? 52.4| 8 5 2 1 2 0 5 5 1 1 1 3 5 5 5 5 11 ™
qon |irT? 52.6| 9 5 3 3 1 1 0 5 1 3 2 0 5 5 4 5 12 TN
qon it 41.6| 7 5 0 o0 o0 O 5 5 2 3 1 2 5 o0 5 5 13 TN
apnn 69.6| 12 4 5 0 5 3 5 5 2 4 5 0 5 5 5 5 14 1N
qon it 45 7 5 0 5 0 0 0 5 0 2 0 4 5 0 5 5 15 TN
nINT? y'mn 36| 3 OO0 o o o0 o0 o0 o0 1, 4/ 5 5 2 2 2 2 16 TN
nINT? y'n 326/ 3 o0 0o 2 O 1 5 1 2| 2 2 2/ 5 o0 o0 5 17 Tn'm




DY MYNW™

77N/ND1VN NLY D°2'yan DNNX ORN™

1192 1NW2I N0 2NN D'WXAN DNN OXRNY
112NN

TN N2WVLNN "TNYN DX NP 0 N2 PR
112 N2 AVYNNN N



InaY ATN®




